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1 R R KIT 4 H26.4.1 H26.4.1 H27.3.31 3,300 6,961,000 (¥) TRk 3 Eipa FEUIY*1) —
2 R EIE TS AY (4R H26.4.1 H26.4.1 H27.3.31 8,150 39,272,000 BEFEE N (¥) 1 Ep3 FEIY=1) —
3 REFE A (7% ) H26.4.1 H26.4.1 H27.3.31 2,100 9,028,000 EFEE N (K) 1 RE FEIY=1) —
4 L5 T L5 T ARG T H26.5.1 H26.5.1 H27.4.30 4,000 16,256,000 BEFEEN (%) 1 Eib3 FEUIY*1) -
5 R TTETTS (3765 H26.5.1 H26.5.1 H27.4.30 492 1,527,000 BAFEEH () 1 BxE FEIY=1) —
6 S N 5E T S e Y T H26.5.1 H26.5.1 H27.4.30 2,600 8,262,000 BT E 1 (%) 1 BE FETIY*1) —
7 R =) B E Y A — H26.4.1 H26.4.1 H27.3.31 49 129,212 EFEE 1 (K) 1 P FEIY=2) —
8 VEIE 155 H26.4.1 H26.4.1 H27.3.31 4,300 1,558,150 (#) TRvk 1 RxE FEEIY*1) —
9 T HHED 1 fEPT H26.4.1 H26.4.1 H27.3.31 7,900 2,856,160 () Txrvbk 1 Gk FEEY*1) —
10 S HIETY H26.4.1 H26.4.1 H27.3.31 2,500 820,510 (¥E) TH vk 1 Eip3 FEYIY*1) -
11 R T H26.4.1 H26.4.1 H27.3.31 3,500 898,570 (k) TARvb 1 Eip3 FBUIY*1) —
12 R T8 H26.4.1 H26.4.1 H27.3.31 4,950 4,899,020 (¥%) TARvk 1 P FEIY=1) —
13 PN T35 H26.4.1 H26.4.1 H27.3.31 9,300 2,167,870 (%) TARvb 1 k3 FYYx1) —
14 ESpU€jiiVNGY H26.4.1 H26.4.1 H27.3.31 70 60,410 IRY—T (#%) 4 Eip3 FEIY=1) -
15 S Sk NG H26.9.16 | H26.11.1 H27.10.31 4,330 4,728,400 ¢ Y b SV 3 P FaIY=1) —
16 A MBI B H26.9.18 | H26.11.1 H27.10.31 114 23,570 IARH—TH) 3 Gk FEBYIY*1) -~
17 AL HIAK B H26.9.18 | H26.11.1 H27.10.31 203 340,682 FEEIARIRGE) 2 k3 FEEIY*1) —
18 RS it K A H26.9.16 |H26.11.1 H27.10.31 1,132 1277902 FEEEIRIRGR) 3 P FEIY=1) —
19 RAKIV/NG H26.9.18 | H26.11.1 H27.10.31 747 486,496| {FEEEIARIRGHEK) 2 Eip3 FEYIY*1) —
20 bR AR T H26.9.18 | H26.11.1 H27.10.31 502 356,943 {REEERIARYR(¥kK) 2 BZXE FETIY*1) —
21 2 Bk AT H26.9.18 |H26.11.1 H27.10.31 307 37,771 FERIRIRGE) 3 Eip:3 FEIY*1) —
22 TRILAK BT H26.9.18 |H26.11.1 H27.10.31 587 226,552| {RERIRIR(HE) 2 BE FBEIYx1) —
23 Ve =K AT H26.9.18 |H26.11.1 H27.10.31 262| 1,191,562 BAE R 1 P FELLY*1) —
24 JLEF) 17K Py H26.9.18 |H26.11.1 H27.10.31 298 497322 FEBEIRIR(HR) 3 Gk FEIY*1) —
25 EEHT AT H26.9.18 | H26.11.1 H27.10.31 309 248,012| {REEIRIRA(E) 2 [lE FEEIY*1) —
26 LR VNG H26.9.18 | H26.11.1 H27.10.31 66 42,696| {FEEIRIR(GE) 2 RA FTEIY*1) —
27 TR AT H26.9.18 | H26.11.1 H27.10.31 62 33,894 FEBIRIRAGER) 2 Ep3 FaIY=1) —
28 K A H26.9.18 | H26.11.1 H27.10.31 105 15,609 {RFEEITRIAGE) 3 BE FEIY*1) —
29 R iiVING) H26.9.18 |H26.11.1 H27.10.31 87 26,407 FERIRIRGE) 2 BE FBEIY*1) —
30 Pk F H26.9.18 | H26.11.1 H27.10.31 442 345417 {FEHEEBIRIRGER) 3 Eip3 FEUIY*1) -
31 P 1 S HlKPT H26.9.18 |H26.11.1 H27.10.31 147 76,291 FEBRIRIAMRK) 3 BxE FEIY*1) —
32 7 2 S KT H26.9.18 | H26.11.1 H27.10.31 56 64,739 {REEIRIRGF) 1 BE FELIY*1) —
33 LK AT H26.9.18 | H26.11.1 H27.10.31 592 521,468 IRY—T () 2 Gip- FEEY*1) -
34 B YA T H26.9.18 | H26.11.1 H27.10.31 688 975,103 TRY—T(H) 2 Eip3 FEUIY*1) -
35 — A TR I H26.9.18 | H26.11.1 H27.10.31 136 96,387| FEBRIRYAMRK) 3 Eipa FEIY*1) —
36 FRCEE VNG H26.9.18 | H26.11.1 H27.10.31 680 153,745 FEEIRIRGE) 2 BAE FTEEIY*1) —
37 HE 2 WIS 75 | H26.9.18 | H26.11.1 H27.10.31 188 87514 FEBRIRYR(¥k) 3 Eip3 FEUIY*1) -
38 FE VRS 1 Hhuk AT H26.9.18 | H26.11.1 H27.10.31 494 50,381| {FEBIRUA(HE) 2 BA FETIYx1) —
39 R VRS 2 Hh/K AT H26.9.18 | H26.11.1 H27.10.31 468 1,030,721 (BR)THRyk 1 BZAE FETIY*1) —
40 P S 3 HlK AT H26.9.18 | H26.11.1 H27.10.31 203 272,328 FREEIRIRHE) 2 mx Y1) —
41 ST BT H26.9.18 | H26.11.1 H27.10.31 298 80,595| {REEERIRYIA(kK) 3 RA FTEEIIY*1) —
42 B auRiiVNG H27.1.16 | H27.3.1 H28.10.31 590 2,388,847 (¥k)F-Power 2 P FEUIY*1) —
43 Bl 5 ciiVNGI) H26.9.16 | H26.11.1 H27.10.31 864 1,268,052 {FERIRIRAGE) 3 BlE FEY*1) —
44 RN iiiVNGl H26.12.12 | H27.2.1 H28.10.31 22 51,547 (#)F-Power 1 Gip- FEEY*1) —
45 R IVING H26.9.18 | H26.11.1 H27.10.31 113 78,997| {FREEIRIR(E) 2 ‘£ FIY*1) —
46 B stk F H26.9.18 | H26.11.1 H27.10.31 188 70,308| fFEBRIRYAMRK) 3 P FEUIY*1) —
47 sk AT H26.9.16 | H26.11.1 H27.10.31 1,409 709,568 {FEEEIRIR(ER) 3 B 2E3)) —
48 iz B HhK AT H26.9.18 | H26.11.1 H27.10.31 435 375,662 TrH—TJ () 2 Gk FEIYx1) —
49 BT H26.9.16 | H26.11.1 H27.10.31 680 1,244,837 IxRH—T (k) 2 BAE FEIY*1) —
50 {55 2 /K HT H26.9.18 | H26.11.1 H27.10.31 375 344,008 REEIRIRER) 2 b3 FEEY*1) —
51 B 1 flK AT H26.9.18 | H26.11.1 H27.10.31 150 250,445 {REERITRIA(HE) 2 ‘A FEIY*1) —
52 s B KT H26.9.18 |H26.11.1 H27.10.31 340 347911 {(RERIRIR(E) 2 BE FBEIYx1) —
53 FE 1A BT H26.9.18 | H26.11.1 H27.10.31 53 74760 FEEIRIRER) 1 Eib3 FEUIY*1) -
54 7 Btk A H26.9.18 | H26.11.1 H27.10.31 205 290,248 {REEREIRIR(Fk) 2 BA FEIY*1) —
55 S K AT H26.9.18 | H26.11.1 H27.10.31 144 198,964| {REERIARIR(K) 2 &% FEEY*1) —
56 H 5 2 KT H26.9.18 | H26.11.1 H27.10.31 276 534,920 TRy 1 b BYIY*1) —
57 R RV H26.9.18 | H26.11.1 H27.10.31 483 58,988 {REEBIRYR(¥E) 3 Eip3 FEUIY*1) -
58 A1 ) NSNS H26.4.1 H26.4.1 H27.3.31 1,350 5,920,000 (¥) TRk 2 BxE FEIYx1) —
59 e BL K H26.4.1 H26.4.1 H27.3.31 320 1,330,000 BETRE 1 (%) 1 B&E FEYIY*1) —
60 KR WORBL K S H26.5.22 | H26.6.1 H27.5.31 870| 2,184,000 Tk 1 P FaIY=1) —
61 WAL A 355 H27.3.19 | H27.4.1 H28.3.31 290 1,248,400 BT E H (%) 1 BZAE FEYIY*1) —
62 B FH T H26.7.23 | H26.8.1 H27.7.31 62 78,036 TRk 1 BxE FEIY*1) —
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